2016-04-17

E1/: FF(sequence), BTEPRE] 2 #, AFERE 512M

(QEEBLY |
HERENIFA: ay,ay,...,a, 1CHNa[lin]. KL, a[lr] A<I<r<n) &
FH: ap,apeq, e Gr1,@re A1 <1I<s<t<r<n, W a[s:]2& a[l:r]HTFF5].
PUER q N, RS TR R r, 1<1<r<n, RalIWARTFFIIN
/AMEZ AT
filtn, s 524,13, WIRGERNNEOY 1 M3, B4 a[l3]F 6 175
a[1:1],a[2:2],a[3:3],a[1:2],a[2:3],a[1:3], X 6 T A E/IMEZ R 5+2+4+2+2+2=17.
Qs ELEAD
VEFE T S 44 4 sequence.c/cpp/pas.
EIPN 5
1 N SCAEN sequence.in.
BN ST —AT R E I B E A g, 73 ARG P FIH P A ) 2
BRR—17, BEn MR, UISKERTIT. BN, BPHIEIAN TR .
BT RafT, BATEEABEINr, RE—IMNH.
[ 4% 0]
i 4 SO sequence.out.
XFFERRE, AT, AR BB
L N 451

sequence.in sequence.out

55 28
52413 17
15 11
13 11
24 17
35
25

U Bl e ]
FESE— MW, a[ 151 B FF RN L) e /MELN -
a[1l:1]: 5 a[2:2]: 2 a
a[l1:2]:
a[1:3]:
a[l:4]:
a[1:5]:
AN 28,
[HE AN Z)5E ]
P DN s A B RS T

—_ = NN
5]

A = = N
QL

— 1 o

o o W

(62 S5 B &

—_— e e e

U9 = et e

TR G n q it

1 <100 q = 100 R P T R
=8 Y NAE
2 n= g < 100000 ’ 7

F2ol el



2016-04-17

3

n <5000
4
> <10
6 1=
7
g n < 100000

q < 100000

’ %
10

XA AEHE, 1 <n,q <100000. |a;| <107,

[ 4]
3 FetHE S g++ -0 sequence sequence.cpp —Im
Xl E gce -0 sequence  sequence.c —lm

Xt Fpascalifi 5 : fpc sequence.pas

H2/@: § X(mine), B{THIR 35, AFLIR 512Mm.
QEIFE 3 |

SETH AR X R4 BT 3 AN R DX T B S, R AT UK X R — TR P A
ST BRI N T AT, RASFEERRY AR XK, SPETERZ 30 0 i B TR
R A BRE BRI A FHIE B S0 S A 2R BR AL R AN IR R X B 5 1% kDX 35k ) T A
HK: AIE, HRA s IR KT &R 2

PER m MR BRI E T — i TR XA R 20K, —4
TR RIS BE B 0 AT BB R X ERRA ., flhn, 2 3EIR-RIFE € IF
R, TR H a Fl b, WARZEEE A (a2+b2)/(atb)e HH T 1 B 22 8 1) 40 T ok X 43 5 £
SURIIASE Y, RN SRR R UL 7 H A e 2 0BT, FR AR B R IR T %
Xi (HARBAE, WA T 2000 S al DR H 2 BT R X380 .

RIS 2SR AN R RIFIORSE BT o DR 7 Tk G kG FBE v B, /R P28 2 0 2042 B A3 BT e
Xk, BRE TSR, HUSURRETER (T B8RS, T HAHER T RAA
2980 filn, HVESAZ LS, TRAE 2, AT RA3, SRR 4 X, 5 2EA
&2, HARAGE 4, MADTRNN 1, RN 2). BT FEEHEE, ARDIRRIT RN TRt
RISRfg CRPF— RIS i%— ek ns, s s E— AR RIS RE 9.
Bk n 77 25 A kg =X
G BELED

PR T A 44 4 mine.cpp/c/pas.

(EIPNGSE |

1 N A 44 mine.ino

AT =N IR nmk, Sl IR ST T B A ) SR, BLRTE SRR AN B

FETRnAT, Bi470=12,.. ,0) AR x i, y i, RoRA ARG, y_i)e



